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QUESTION 1

Which of these is the correct procedure to create and use an SQLite database? 

A. Call the ApplicationContext methods createDatabase() and openDatabase(). 

B. Extend the android.database.sqlite.SQLiteOpenHelper class, implementing the onCreate() method and onUpgrade()
methods, then call the getWritableDatabase() method. 

C. Declare an instance of the android.database.sqlite.SQLiteOpenHelper class and call each of the methods
onCreate(), onUpgrade(), and getWritabieDatabase(). 

D. Implement the android.database.SQLiteOpenHelper interface, writing the implementation of the onCreate() and
onUpgrade() methods, and pass it as a parameter to ApplicationContext.createOrOpenDatabase(). 

Correct Answer: B 

 

QUESTION 2

Which of these is the correct explanation of the Ul/Application Exerciser Monkey (Monkey tool)? 

A. It can execute tests covering all events. 

B. It can execute stress tests and sometimes discover new bugs. 

C. Even if an error is discovered, it cannot repeatedly reproduce the same operating state 

D. Since it reduces the interval between events as much as possible, it operates in a heavily- loaded state. 

Correct Answer: B 

 

QUESTION 3

When executing android.content.Context.openFileOutput("sample.txt", 0), which path is the file stored in? 

A. /data/app//files 

B. /data/data//files 

C. /system/app//files 

D. /system/data//files 

Correct Answer: B 

 

QUESTION 4

Which is the correct procedure to play an MP3 format file using the MediaPlayer class? 
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A. Option a 

B. Option b 

C. Option c 

D. Option d 

Correct Answer: A 

 

QUESTION 5

Which of these is the correct function of Traceview? 

A. Displays a graphical task execution log. 

B. Displays graphically a memory acquisition and release log 

C. Displays graphically the call stack. 

D. Displays graphically the Ul state hierarchy. 

Correct Answer: A 
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